
 400  4
02

 
 4

05
 

A

A

E

13

2

 70  260 

 195 

 4
00

 

4

 2
 

 500 

B

SECTION A-A

DETAIL B
SCALE 1 : 2

7

5

 2  2 

DETAIL E
SCALE 1 : 2

5 6

Revision
Rev. Description Date Approver

A Revised 11.654 03.10.2023 RK

ITEM 
NO. PART NUMBER Rev. DESCRIPTION TYPE MATERIAL QTY

1 11.631 Corner L PLT 2 - 453x587 Cor-Ten 1
2 11.631-G Corner L PLT 2 - 453x587 Cor-Ten 1
3 11.633 Wall M PLT 2 - 313x453 Cor-Ten 2
4 11.634 Bottom Plate M Plate 2 -  390 x 210 Cor-Ten 2
5 M8x12 DIN 7380 Bolt M8x12 DIN 7380 zn 8.8 32
6 M6 DIN 934 Nut M6 DIN 934 8 15
7 Tension nut Blind rivet nuts MFX 23-CO ZP M 6 x 16 8 12

Project:

GrillSymbol Oü
Suur-Sõjamäe 19A
11415 Tallinn, Estonia
Phone: +372 6 827 212 

Material:

R.Kiveste

R.Kiveste

App:

Chk:

Size:

Metric: mm

General tolerance symbols acc.ISO2768-mK
Welding tolerances EVS-EN ISO 13920 - B
Quality level weld EVS-EN ISO 5817 - C
Thermal cutting ISO 9013

11.630

Flower Pot  

17.11.2023

17.11.2023

Weight kg:Scale:

Clara M
Drawing number: Rev:

1/4

Drw:

Description:

1:10

Sheet:

A3

14.9

Type:

Th
is 

d
oc

um
en

t a
nd

 it
s c

on
te

nt
s a

re
 th

e 
pr

op
er

ty
 o

f G
ril

lS
ym

bo
l O

ü 
an

d
 m

us
t n

ot
 b

e 
co

pi
ed

, r
ep

ro
d

uc
ed

 o
r d

isc
lo

se
d

 to
 a

ny
 th

ird
 p

ar
ty

 w
ith

ou
t

 p
rio

r w
rit

te
n 

pe
rm

iss
io

n.
 C

on
tra

ve
nt

io
n 

w
ill 

be
 p

ro
se

cu
te

d
.


	640
	Drawing View2
	Drawing View4
	Drawing View44
	Section View A-A
	Detail View B (1 : 2)
	Detail View E (1 : 2)


